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12. 8

a. t= =1.35-p-uhe =0.096

y =n -p -1
=25 -2 -1 =

28p-whe-upph =0.05 -> Fill met the No.

This means that we do not have sufficient evidence to conclude that B is gunter the U.

b. t:i =3.41 -> prune =0.025

P-whe s alpha =0.05-> Reject the Ho.

This mens we he sufficient evidence to conclude that BC is not equal to 0 at the 0.05sofionne lead.

c. Itry x SEy5i) W:n-p-1
=25-2-1=22 2 =0.05-> truhe=111

Liver Limit:3.1-1.717x2.) = - r.85 1 -0.85.7.05)

Upper Limit:3.1 + 1.717x2.3=7.05

ohby:22ak =0.005 -> truhe=2.619

Low Limit =0.92-2.319 x0.27 =0.16 -0.16. 1.68)

Upper Limit
=0.92 + 2.819 xv.27 = 1.68

12. 18

a. Brestinate X1: Fo eay
we wit increase in the propotion ofthe block that is low-casityresidential area, we expect the

population density to increase 2006 with,assuring the
proportion ofthe block that ishigh-cusity residential men remains caught.

Brestinate x2:For every
we wit increase in the propotion ofthe block that is high-cesityresidential area, we expect the

population density to increase 5,000 with,assuring the
proportion ofthe block that islow-cusity residential men remains caught.

The intercept turn 1.0.0304) represents the expecial population desitywhen both X and to me zero. In this ontext, it mulch

reprsent the population density in a block that has no residential areas, which may not have a partial interpretation.

b. 17=0.066 mews that approximally66.6% ofthe viabilityin populin clositycan be explind bythe proporth ofthe block that ishow

density residential men and the propotion ofthe block that ishigh-chesity residential men. The revering 31.4% the verabilityin population

densityis one to otherfactors not included in the watch.

c. 10: 1:B2=0 vs. H2:At least we of B. and B is not equal to 0.

d. F=,=e-pres C. The pukefor F-stulisticofiss.27 is exterlysmall, essentiallyzero.

Rejet the u.
Givn k =0.686, p

=2, n =125

F= 133.27
This wears that we have sang evidence to cachule that at leastone ofthe prolites x ux2)

issynfintly related to the
respuse viable at the ol signifio heat.



12.26

10:B =

B2:Bs =. .. .110 =0

Ha: At lust meorB, B2...18 is not equal to 0.

F = -p-is Ginn:R= 0.95, p= 18,4=20

~I. of

This news that we do not he say
evidence

-> p-whe =0.656 to conclude that at least oneof the pulictus is

> alpha
=0.05 synitlyrecital to the respuse variable.SAT suel

↳ Frill to rejectthe to at the 0.05significance level.

In other wals, despite the high 14"value, the
male does not provide say evidence that

the psychologint and sociologicalfutus are useful in pudicting SAT saves, give the small

simple size and the large numberof pudictors.

12.36

a.Y =52484 +2941x10 +16860x0 +11106x

=93002

b. Y =52484 +2941x10 +16860x1 +11186x0
=98774

a. TR puolical values green in

pass a
wall be are print estimate, mening theyrepresent a single "best guess"in the salvy ofa UPA member given their years of

experience. Phil States, and menager states. However, these print estiments do not account for the uncertaintyassocial with puriation.

A 95% proliction inter, provides a rage ofvalues that is likelyto contain the actual school of a UPA member with a certain levelofanfidence.
This interal accents for the variabilityin the data and the uncertainlyin the puliction.

In other wals, a pudiction internt give a range in which we can be fullyantilent the acted
unter willfill, assuming the model is correct.

It provides more infirmation than a point estimate byqualifying the uncertaintyin the purliction.

12. 174.
a. Y =90.1-1.84.x +0.285.X2

b. 14
=91.6%.

This news that 41.6% ofthe variability in the respuse unincey can be explained bythe policies X, and x2 in the model. The renewing

3.4% ofthe variabilityin y is one to otherjacks not inched in the model.

C. Ho:B, =B2 =0

Hs:At must meofB. w BC is not equal to v

Give:F-sttstic:64.91 url the correspraling p-value is 0.01

Since the p-value,wall is less than the significe level, 2=0.05), we reject the No. This wears that we he sway evidence to cuchule that

at least are ofthe prodictrs x orx2) is significallyrelated to the response viableyat the 0.05single level.



c. Ho:B.=0 vs. Ha:B, tr

pouhe =0.001 -> Less the alpha-0.05-> reject the Ho much cable that X is significitlyrebell to y.

2. Given S =10.68.

This news that, on coverage, the could values ofy oleviatefrom the pulical roles given by about 10.68

units. In other words, ifwe use the worked to purlicty book on the pulicis x urlx3, we can expert
the puliction to be orbyabout 1.68 points on arege.


